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Chapter 3 notes

3.3 Rules for leferenhahon [
= ) ~ 1 : : V 7\1\\
,e/ /G2 e = roke of o > = SO )
Rule 1) derivative of a constant Rule 2) power rule, x 0
B \ E s ‘*« ’ - r\\‘ _ ) ~ -
¢ 2(x)=c , then ='(X)=0 4 (yM= nex”
\/{(’r(- (N d\;/\\ ~ /
b T slepe 1 2D
= T = ' [
3 TYONT> 25
v
- y
5 =7 5 =
Example: ’/ '/
2 X3 x4 X213 1/x 1/x2
90y ERVal TR ERE N R "2 L ~
— =} _ 21 2, e = ==
YA = R - e x

Rule 3) constant multiple rule

t ™
PR \ .’/‘k IR, %
Lo I \

1
S

- |

constont can.

v
bl &t 7
&

‘(T :3\ ;f'n?_ f, o S

Example: Find the derivative.
| 4t2 pI_
fo=% 735

— 743 a
f) =7x \C'%Cw\

f@x) = 3x2

[ 4
‘;’*;:f,/,:
1
| -
i
P



Rule 4) sum and difference rule
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Rule 6) quotient rule d N
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3.4 Velocity & Other Rates of Change
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Example: The equation describing the position of an objectis s(t) = (t — 2)2- 3 wheresis
in meters and t is in seconds.

a) Find the displacement of the object from¢ = 1 tot = 6.
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c) Find ’rheiveloci’ry of the objectatt = 1, att = 2, andatt = 4.
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d) Find the total distance traveled fromt = 1tot = 6.
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e) Find the average acceleration of the object fromt = 1tot = 6. V= 2k -4
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Example: Describe the motion of the particle.
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Example: A company estimates the cost in dollars of production for x items is:
C(x) = 10,000 + 5x +.01x?

a) What is the cost of producing 500 items2 501 items?
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3.5 Derivatives of Tngonometrlc Functions
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Example: The position of an object moving in simple harmonic motion is given by
= 2 + 3sint (sisininches and tis in seconds)

a) Find the displacement of the object fromt=0tot =
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3.6 The Chain Rule
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Example: Find == and — for y? = x? + 2x.
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Example: Flnd the equcmon of the line tangent to x? + xy
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3.8 Derivatives of inverse Trigonometric Functions
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3.9 Derivatives of Exponentials and Logarithms
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Example: Find the derivative of the following.
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Example: Find the equation of the line tangent fo y = Inx? at x = e.
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Example: At what point does the tangent line for y = 2¢
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